
Name: ______________________________ 

 
 
SD43 Numeracy 2021                                                                          Multiplication and Division Two Step 

What is the value of n? Show how you can get n by itself and keep the scales in balance. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4 (n + 2) 16  =  

n = 

6(n + 2) 18  =  

n = 

𝒏

𝟑
 + 2 7  =  

n = 

𝒏+𝟓

𝟑
  8  =  

n = 

7(n - 5) 42  =  

n = 

𝒏

𝟖
 + -10 14 =  

n = 

𝒏−𝟕

𝟑
  4  =  

n = 

9(n - 4) 81 =  

n = 



Name: ______________________________ 
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𝒏

𝟖
 + 12  5 =  

n = 

𝒏+𝟒

𝟐
  -4  =  

n = 

10(n + 2) 50  =  

n = 

𝒏

𝟔
 + 2 -3 = 

n = 

𝒏−𝟒

𝟓
  12  =  

n = 

3(n -1) 33  =  

n = 

7(n + 14) 56  =  

n = 

𝒏+𝟏𝟔

𝟐
  30  =  

n = 


